The Rising Solar Bag
Purpose:

To calculate the rate at which the Solar Bag rises.

Materials:

Solar Bag

String marked off every 10 cm 

Meter Stick

Stop Watch

Procedure:

1. Tie off one end of the solar bag.  Have 2 students run with the bag to inflate it.

2. Once inflated, tie off the other end of the bag with the marked string.

3. Allow the bag to sit in the sun.

4. Once it begins to rise, begin timing it.

5. Record the height of the bag every 30 seconds.

Data Table:

Time (secs)

Elevation (cm) 

0



  0

30



___

60



___

90



___

120



___

150



___

180



___

210



___

240



___

270



___

300



___

330



___

Conclusions:

1.  Graph your data from the data table with your elevation on the Y axis and your time on the X axis.

2.  Explain why the bag began to rise.

3.  Was the rate at which the bag rose a constant?  How do you know?

4.  Calculate the rate at which the bag rose from 0 to 150 seconds by dividing the total distance it rose by the total time (150 seconds).

Rate = Total distance moved in 150 seconds / 150 seconds = ______________
5.  Calculate the rate at which the bag rose from 150 seconds to 330 seconds by dividing the total distance it rose by the total time (330 – 150).

Rate = Total distance moved from 150 to 330 / 330 – 150 = _________________

6.  Why do you think the solar bag is black?  What would happen if the bag was silver?  Why?

